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HW assignment 2. Due Feb 25 on the lecture

Find the Feynman, retarded and advanced propagators in a massless KG theory.

Solution
Feynman propagator

〈0|T{φ̂(x)φ̂(0)}|0〉 = i

∫
d−4p

e−ipx

p2 + iε
= i

∫
d−3p ei~p·~x

∫
d−p0

e−ip0x0

(p0 − |~p|+ iε)(p0 + |~p| − iε)

= θ(x0)

∫
d−3p

2|~p|
ei~p·~x−i|~p|x0 + θ(−x0)

∫
d−3p

2|~p|
ei~p·~x+i|~p|x0

r≡|~x|
=

θ(x0)

16π2

∫ ∞
0

pdp

∫ π

0

sin θ dθ e−ipx0+ipr cos θ +
θ(−x0)
8π2

∫ ∞
0

pdp

∫ π

0

sin θ dθ eipx0+ipr cos θ

= − iθ(x0)

8π2r

∫ ∞
0

dp
(
e−ipx0+ipr − e−ipx0−ipr

)
− iθ(−x0)

8π2r

∫ ∞
0

dp
(
eipx0+ipr − eipx0−ipr

)
= − iθ(x0)

8π2r

∫ ∞
0

dp
(
e−ip(x0−r−iε) − e−ip(x0+r−iε)

)
− iθ(−x0)

8π2r

∫ ∞
0

dp
(
eip(x0+r+iε) − eip(x0−r+iε)

)
= − θ(x0)

8π2r

[ 1

x0 − r − iε
− 1

x0 + r − iε

]
+
θ(−x0)
8π2r

[ 1

x0 + r + iε
− 1

x0 − r + iε

]
= − θ(x0)

4π2(x20 − r2 − iεx0)
− θ(−x0)

4π2(x20 − r2 + iεx0)
= − 1

4π2(x20 − r2 − iε)
=

1

4π2(−x2 + iε)
(1)

Retarded propagator

θ(x0)〈[φ̂(x), φ̂(0)]〉 = i

∫
d−4p

e−ipx

p2 + iεp0
= i

∫
d−3p ei~p·~x

∫
d−p0

e−ip0x0

(p0 − |~p|+ iε)(p0 + |~p|+ iε)

= θ(x0)

∫
d−3p

2|~p|
ei~p·~x−i|~p|x0 − θ(x0)

∫
d−3p

2|~p|
ei~p·~x+i|~p|x0

= − θ(x0)

8π2r

[ 1

x0 − r − iε
− 1

x0 + r − iε

]
− θ(x0)

8π2r

[ 1

x0 + r + iε
− 1

x0 − r + iε

]
= − θ(x0)

4π2(x20 − r2 − iε)
+

θ(x0)

4π2(x20 − r2 + iε)
= − 2πiδ(x20 − r2)θ(x0) = − 2πiδ(x2)θ(x0) (2)

Advanced propagator

θ(−x0)〈[φ̂(0), φ̂(x)]〉 = i

∫
d−4p

e−ipx

p2 − iεp0
= i

∫
d−3p ei~p·~x

∫
d−p0

e−ip0x0

(p0 − |~p| − iε)(p0 + |~p| − iε)

= − θ(−x0)
∫
d−3p

2|~p|
ei~p·~x−i|~p|x0 + θ(−x0)

∫
d−3p

2|~p|
ei~p·~x+i|~p|x0

=
θ(−x0)
8π2r

[ 1

x0 − r − iε
− 1

x0 + r − iε

]
+
θ(−x0)
8π2r

[ 1

x0 + r + iε
− 1

x0 − r + iε

]
=

θ(−x0)
4π2(x20 − r2 + iε)

− θ(−x0)
4π2(x20 − r2 − iε)

= − 2πiδ(x20 − r2)θ(−x0) = − 2πiδ(x2)θ(−x0) (3)


